



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 3rd Semester, Section B, Evening, Session Autumn 2025

| Registration # | Name | CS111 | | | | | CSC 201 | | | | | CSC 401 | | | | | CSC206 | | | | | CSC-303 | | | | | CSC-305 | | | | |
|--------------------------|--------------------------------|------------------------------|-------|-----|---------|---------|---|-------|-----|---------|---------|------------------------------|-------|-----|---------|---------|------------------|-------|-----|---------|---------|-----------------------------|-------|----|---------|---------|---------------------|-------|----|---------|---------|
| | | Programming Fundamentals (C) | | | | | Computer Organization & Assembly Language | | | | | Data Structures & Algorithms | | | | | Database Systems | | | | | Object Oriented Programming | | | | | Discrete Structures | | | | |
| | | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product |
| B.S CS Aut-2023-E-B-0262 | Adil Hussain Sabri | 51 | D | 1.5 | 4 | 6.0 | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0001 | Abdul Basit | - | - | - | - | - | 40 | F | - | 3 | - | 80 | A | 4.0 | 4 | 16.0 | 60 | C | 2.0 | 4 | 8.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0004 | Ahmad Hayat | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | 78 | B+ | 3.5 | 4 | 14.0 | 56 | C | 2.0 | 4 | 8.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0005 | Aima Akbar | - | - | - | - | - | 82 | A | 4.0 | 3 | 12.0 | 83 | A | 4.0 | 4 | 16.0 | 83 | A | 4.0 | 4 | 16.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0007 | Ammad Naseer | - | - | - | - | - | 51 | D | 1.5 | 3 | 4.5 | 67 | C+ | 2.5 | 4 | 10.0 | 51 | D | 1.5 | 4 | 6.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0008 | Ammar Toheed | - | - | - | - | - | 67 | C+ | 2.5 | 3 | 7.5 | 81 | A | 4.0 | 4 | 16.0 | 81 | A | 4.0 | 4 | 16.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0009 | Anas Khan | 88 | A | 4.0 | 4 | 16.0 | 59 | C | 2.0 | 3 | 6.0 | 73 | B | 3.0 | 4 | 12.0 | 66 | C+ | 2.5 | 4 | 10.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0010 | Aqeel Ahmed | - | - | - | - | - | 93 | A | 4.0 | 3 | 12.0 | 97 | A | 4.0 | 4 | 16.0 | 89 | A | 4.0 | 4 | 16.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0011 | Arshad Khan | - | - | - | - | - | 66 | C+ | 2.5 | 3 | 7.5 | 76 | B+ | 3.5 | 4 | 14.0 | 60 | C | 2.0 | 4 | 8.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0013 | Bilal Hussain Awan | - | - | - | - | - | 82 | A | 4.0 | 3 | 12.0 | 92 | A | 4.0 | 4 | 16.0 | 67 | C+ | 2.5 | 4 | 10.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0022 | Hifza Jabeen | - | - | - | - | - | 92 | A | 4.0 | 3 | 12.0 | 82 | A | 4.0 | 4 | 16.0 | 72 | B | 3.0 | 4 | 12.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0024 | Huzaifa Touqeer | - | - | - | - | - | 67 | C+ | 2.5 | 3 | 7.5 | 80 | A | 4.0 | 4 | 16.0 | 76 | B+ | 3.5 | 4 | 14.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0025 | Inzamam Alam | - | - | - | - | - | 58 | C | 2.0 | 3 | 6.0 | 70 | B | 3.0 | 4 | 12.0 | 51 | D | 1.5 | 4 | 6.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0026 | Iqra Shabbir | - | - | - | - | - | 93 | A | 4.0 | 3 | 12.0 | 82 | A | 4.0 | 4 | 16.0 | 67 | C+ | 2.5 | 4 | 10.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0027 | Kamran Ahmed | - | - | - | - | - | 76 | B+ | 3.5 | 3 | 10.5 | 85 | A | 4.0 | 4 | 16.0 | 71 | B | 3.0 | 4 | 12.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0029 | Mirza Muhammad Abdul Sami Baig | - | - | - | - | - | 59 | C | 2.0 | 3 | 6.0 | 71 | B | 3.0 | 4 | 12.0 | 51 | D | 1.5 | 4 | 6.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0032 | Muhammad Faizan Abbasi | - | - | - | - | - | 62 | C | 2.0 | 3 | 6.0 | 69 | C+ | 2.5 | 4 | 10.0 | 52 | D | 1.5 | 4 | 6.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0033 | Muhammad Furqan Shahid | - | - | - | - | - | 63 | C | 2.0 | 3 | 6.0 | 80 | A | 4.0 | 4 | 16.0 | 56 | C | 2.0 | 4 | 8.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0034 | Muhammad Haider Ali Abbasi | - | - | - | - | - | 70 | B | 3.0 | 3 | 9.0 | 80 | A | 4.0 | 4 | 16.0 | 71 | B | 3.0 | 4 | 12.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0035 | Muhammad Hamza Ismail | - | - | - | - | - | 71 | B | 3.0 | 3 | 9.0 | 72 | B | 3.0 | 4 | 12.0 | 60 | C | 2.0 | 4 | 8.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0036 | Muhammad Hashir Ali Hashmi | - | - | - | - | - | 71 | B | 3.0 | 3 | 9.0 | 73 | B | 3.0 | 4 | 12.0 | 60 | C | 2.0 | 4 | 8.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0039 | Muhammad Raheel Abbas | - | - | - | - | - | 73 | B | 3.0 | 3 | 9.0 | 95 | A | 4.0 | 4 | 16.0 | 71 | B | 3.0 | 4 | 12.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0040 | Muhammad Sibghatullah | - | - | - | - | - | 76 | B+ | 3.5 | 3 | 10.5 | 73 | B | 3.0 | 4 | 12.0 | 56 | C | 2.0 | 4 | 8.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0043 | Mutahhar Abbas Mutahhari | - | - | - | - | - | 62 | C | 2.0 | 3 | 6.0 | 75 | B+ | 3.5 | 4 | 14.0 | 44 | F | - | 4 | - | - | - | - | - | - | - | - | | | |
| B.S CS Aut-2024-E-B-0044 | Nayyer Altaf | - | - | - | - | - | 51 | D | 1.5 | 3 | 4.5 | 69 | C+ | 2.5 | 4 | 10.0 | 38 | F | - | 4 | - | - | - | - | - | - | - | - | | | |
| B.S CS Aut-2024-E-B-0045 | Obaid Ullah Abbasi | - | - | - | - | - | 53 | D | 1.5 | 3 | 4.5 | 78 | B+ | 3.5 | 4 | 14.0 | 58 | C | 2.0 | 4 | 8.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0046 | Saba Sheraz | - | - | - | - | - | 65 | C+ | 2.5 | 3 | 7.5 | 80 | A | 4.0 | 4 | 16.0 | 66 | C+ | 2.5 | 4 | 10.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-E-B-0048 | Sami Ullah Akhtar | - | - | - | - | - | 81 | A | 4.0 | 3 | 12.0 | 92 | A | 4.0 | 4 | 16.0 | 85 | A | 4.0 | 4 | 16.0 | - | - | - | - | - | - | - | - | | |
| B.S CS Aut-2024-M-B-0026 | Muhammad Faraz Khan | - | - | - | - | - | 56 | C | 2.0 | 3 | 6.0 | 70 | B | 3.0 | 4 | 12.0 | - | F | - | 4 | - | - | - | - | - | 15 | F | - | 3 | - | |

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 3rd Semester, Section B, Evening, Session Autumn 2025

| | | CSC404 | | | | | HUM201 | | | | | MT243 | | | | | MTH-301 | | | | | SSE 606 | | | | |
|--------------------------|--------------------------------|--------------------|-------|-----|---------|---------|------------------------------|-------|-----|---------|---------|--------------------------|-------|----|---------|---------|--------------------------------|-------|-----|---------|---------|----------------------|-------|-----|---------|---------|
| | | Visual Programming | | | | | Technical & Business Writing | | | | | Probability & Statistics | | | | | Calculus & Analytical Geometry | | | | | Advanced Programming | | | | |
| | | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product |
| B.S CS Aut-2023-E-B-0262 | Adil Hussain Sabri | 66 | C+ | 2.5 | 3 | 7.5 | - | - | - | - | - | - | - | - | - | 8 | F | - | 3 | - | - | - | - | - | - | |
| B.S CS Aut-2024-E-B-0001 | Abdul Basit | - | - | - | - | - | 60 | C | 2.0 | 3 | 6.0 | - | - | - | - | - | 55 | C | 2.0 | 3 | 6.0 | 76 | B+ | 3.5 | 3 | 10.5 |
| B.S CS Aut-2024-E-B-0004 | Ahmad Hayat | - | - | - | - | - | 70 | B | 3.0 | 3 | 9.0 | - | - | - | - | - | 50 | D | 1.5 | 3 | 4.5 | 66 | C+ | 2.5 | 3 | 7.5 |
| B.S CS Aut-2024-E-B-0005 | Aima Akbar | - | - | - | - | - | 80 | A | 4.0 | 3 | 12.0 | - | - | - | - | - | 80 | A | 4.0 | 3 | 12.0 | 80 | A | 4.0 | 3 | 12.0 |
| B.S CS Aut-2024-E-B-0007 | Ammad Naseer | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 50 | D | 1.5 | 3 | 4.5 | 70 | B | 3.0 | 3 | 9.0 |
| B.S CS Aut-2024-E-B-0008 | Ammar Toheed | - | - | - | - | - | 80 | A | 4.0 | 3 | 12.0 | - | - | - | - | - | 76 | B+ | 3.5 | 3 | 10.5 | 75 | B+ | 3.5 | 3 | 10.5 |
| B.S CS Aut-2024-E-B-0009 | Anas Khan | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 50 | D | 1.5 | 3 | 4.5 | 80 | A | 4.0 | 3 | 12.0 |
| B.S CS Aut-2024-E-B-0010 | Aqeel Ahmed | - | - | - | - | - | 81 | A | 4.0 | 3 | 12.0 | - | - | - | - | - | 95 | A | 4.0 | 3 | 12.0 | 80 | A | 4.0 | 3 | 12.0 |
| B.S CS Aut-2024-E-B-0011 | Arshad Khan | - | - | - | - | - | 80 | A | 4.0 | 3 | 12.0 | - | - | - | - | - | 61 | C | 2.0 | 3 | 6.0 | 70 | B | 3.0 | 3 | 9.0 |
| B.S CS Aut-2024-E-B-0013 | Bilal Hussain Awan | - | - | - | - | - | 80 | A | 4.0 | 3 | 12.0 | - | - | - | - | - | 65 | C+ | 2.5 | 3 | 7.5 | 80 | A | 4.0 | 3 | 12.0 |
| B.S CS Aut-2024-E-B-0022 | Hifza Jabeen | - | - | - | - | - | 80 | A | 4.0 | 3 | 12.0 | - | - | - | - | - | 77 | B+ | 3.5 | 3 | 10.5 | 80 | A | 4.0 | 3 | 12.0 |
| B.S CS Aut-2024-E-B-0024 | Huzaifa Touqeer | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 70 | B | 3.0 | 3 | 9.0 | 80 | A | 4.0 | 3 | 12.0 |
| B.S CS Aut-2024-E-B-0025 | Inzamam Alam | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 57 | C | 2.0 | 3 | 6.0 | 66 | C+ | 2.5 | 3 | 7.5 |
| B.S CS Aut-2024-E-B-0026 | Iqra Shabbir | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 55 | C | 2.0 | 3 | 6.0 | 80 | A | 4.0 | 3 | 12.0 |
| B.S CS Aut-2024-E-B-0027 | Kamran Ahmed | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 66 | C+ | 2.5 | 3 | 7.5 | 66 | C+ | 2.5 | 3 | 7.5 |
| B.S CS Aut-2024-E-B-0029 | Mirza Muhammad Abdul Sami Baig | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 50 | D | 1.5 | 3 | 4.5 | 65 | C+ | 2.5 | 3 | 7.5 |
| B.S CS Aut-2024-E-B-0032 | Muhammad Faizan Abbasi | - | - | - | - | - | 70 | B | 3.0 | 3 | 9.0 | - | - | - | - | - | 62 | C | 2.0 | 3 | 6.0 | 76 | B+ | 3.5 | 3 | 10.5 |
| B.S CS Aut-2024-E-B-0033 | Muhammad Furqan Shahid | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 70 | B | 3.0 | 3 | 9.0 | 71 | B | 3.0 | 3 | 9.0 |
| B.S CS Aut-2024-E-B-0034 | Muhammad Haider Ali Abbasi | - | - | - | - | - | 70 | B | 3.0 | 3 | 9.0 | - | - | - | - | - | 80 | A | 4.0 | 3 | 12.0 | 75 | B+ | 3.5 | 3 | 10.5 |
| B.S CS Aut-2024-E-B-0035 | Muhammad Hamza Ismail | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 62 | C | 2.0 | 3 | 6.0 | 71 | B | 3.0 | 3 | 9.0 |
| B.S CS Aut-2024-E-B-0036 | Muhammad Hashir Ali Hashmi | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 65 | C+ | 2.5 | 3 | 7.5 | 70 | B | 3.0 | 3 | 9.0 |
| B.S CS Aut-2024-E-B-0039 | Muhammad Raheel Abbas | - | - | - | - | - | 76 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 80 | A | 4.0 | 3 | 12.0 | 80 | A | 4.0 | 3 | 12.0 |
| B.S CS Aut-2024-E-B-0040 | Muhammad Sibghatullah | - | - | - | - | - | 76 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 50 | D | 1.5 | 3 | 4.5 | 71 | B | 3.0 | 3 | 9.0 |
| B.S CS Aut-2024-E-B-0043 | Mutahhar Abbas Mutahhari | - | - | - | - | - | 70 | B | 3.0 | 3 | 9.0 | 37 | F | - | 3 | - | 65 | C+ | 2.5 | 3 | 7.5 | 66 | C+ | 2.5 | 3 | 7.5 |
| B.S CS Aut-2024-E-B-0044 | Nayyer Altaf | - | - | - | - | - | 70 | B | 3.0 | 3 | 9.0 | - | - | - | - | - | 55 | C | 2.0 | 3 | 6.0 | 75 | B+ | 3.5 | 3 | 10.5 |
| B.S CS Aut-2024-E-B-0045 | Obaid Ullah Abbasi | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | 71 | B | 3.0 | 3 | 9.0 |
| B.S CS Aut-2024-E-B-0046 | Saba Sheraz | - | - | - | - | - | 80 | A | 4.0 | 3 | 12.0 | - | - | - | - | - | 50 | D | 1.5 | 3 | 4.5 | 81 | A | 4.0 | 3 | 12.0 |
| B.S CS Aut-2024-E-B-0048 | Sami Ullah Akhtar | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 77 | B+ | 3.5 | 3 | 10.5 | 85 | A | 4.0 | 3 | 12.0 |
| B.S CS Aut-2024-M-B-0026 | Muhammad Faraz Khan | - | - | - | - | - | 45 | F | - | 3 | - | - | - | - | - | 2 | F | - | 3 | - | 55 | C | 2.0 | 3 | 6.0 | |

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 3rd Semester, Section B, Evening, Session Autumn 2025

| Registration # | Name | CS111 | | | | | CSC 201 | | | | | CSC 401 | | | | | CSC206 | | | | | CSC-303 | | | | | CSC-305 | | | | |
|--------------------------|-----------------|------------------------------|-------|----|---------|---------|---|-------|----|---------|---------|------------------------------|-------|----|---------|---------|------------------|-------|----|---------|---------|-----------------------------|-------|----|---------|---------|---------------------|-------|----|---------|---------|
| | | Programming Fundamentals (C) | | | | | Computer Organization & Assembly Language | | | | | Data Structures & Algorithms | | | | | Database Systems | | | | | Object Oriented Programming | | | | | Discrete Structures | | | | |
| | | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product |
| B.S CS Aut-2024-M-C-0029 | Muhammad Hashim | - | - | - | - | 67 | C+ | 2.5 | 3 | 7.5 | 80 | A | 4.0 | 4 | 16.0 | 71 | B | 3.0 | 4 | 12.0 | - | - | - | - | - | - | - | - | - | - | |
| B.S CS SP-24-Eve-0314 | Hasnain Asif | - | - | - | - | 41 | F | - | 3 | - | 65 | C+ | 2.5 | 4 | 10.0 | 26 | F | - | 4 | - | 50 | D | 1.5 | 4 | 6.0 | - | - | - | - | | |

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 3rd Semester, Section B, Evening, Session Autumn 2025

| | | CSC404 | | | | | HUM201 | | | | | MT243 | | | | | MTH-301 | | | | | SSE 606 | | | | | | |
|--------------------------|-----------------|--------------------|-------|----|---------|---------|------------------------------|-------|-----|---------|---------|--------------------------|-------|----|---------|---------|--------------------------------|-------|-----|---------|---------|----------------------|-------|-----|---------|---------|--|--|
| | | Visual Programming | | | | | Technical & Business Writing | | | | | Probability & Statistics | | | | | Calculus & Analytical Geometry | | | | | Advanced Programming | | | | | | |
| | | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | Obtained | Grade | GP | Credits | Product | | |
| B.S CS Aut-2024-M-C-0029 | Muhammad Hashim | - | - | - | - | - | 75 | B+ | 3.5 | 3 | 10.5 | - | - | - | - | - | 65 | C+ | 2.5 | 3 | 7.5 | 71 | B | 3.0 | 3 | 9.0 | | |
| B.S CS SP-24-Eve-0314 | Hasnain Asif | - | - | - | - | - | 70 | B | 3.0 | 3 | 9.0 | - | - | - | - | - | 25 | F | - | 3 | - | - | - | - | - | - | | |

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026